. m__m_gw

o

upport = \
Bt

#

EDGE OF ADJACENT CARRIAGEWA Y.

EDGE OF S/IGN.

’

B

DIMENSION

VA NOTE 4.

FOR DETAILS OF SIGN CLIP
TYPE 2 AND FIXINGS REFER
TO DRAWING NUMBER APM

CLIP/02.

ENLARGED VIEW ON SIGN ATTACHMENT.

EDGE OF ADMACENT CARRIAGEWA Y,

7\&//

Oy
/g
NG

/

EDGE OF S/GN.
V-7

IMENS/ION

OO_u<_N_OI._.©me._.m_<_mmm 2008. VARLEY AND GULLIVER LIMITED.

MINIMUM INFORMATION TO BE PROVIDED FOR PASSIVE MASTS.

SINGLE LEG MULTIPLE

SIGN LEG SIGN
DIMENSION "A’ - SIGN WIDTH u u
DIMENSION "B’ - SIGN HEIGHT u u
DIMENSION ‘C’ - SIGN MOUNTING HEIGHT u u
DIMENSION "D’ - DISTANCE FROM SIGN - -

EDGE TO CARRIAGEWAY

POST CENTRES. ]
SIGN LOCATION. u | ]

MATERIAL SPECIFICATION.

ITEM

SPECIFICATION

COLUMN AND
SIGN CLIP.

ALL EXTRUSIONS ARE TO BE ALUMINIUM ALLOY IN
ACCORDANCE WITH BS.EN.515, BS.EN.573-3, BS.EN.573-4,
BS.EN.755-1, BS.EN.755-2, BS.EN.755-5, BS.EN.755-7 AND
BS.EN.755-9. WITH A MINIMUM PROOF STRESS.. OF
210N/mm? FOR THE COLUMN SECTION.

BASEPLATE.

BASEPLATE TO BS.EN.10025 GRADE $355J2G3, HOT DIPPED
GALVANISED TO BS.EN.ISO.1461.

BOLTS.

FOR HOLDING DOWN SETPINS SPECIFICATION REFER TO
DRAWING NUMBER FCL 603. M8 SETPINS TO CONFORM TO
BS.EN.IS0.4017 AND BE STAINLESS STEEL TO GRADE A4
BUMAX 109.

M8x38 SQUARE HEAD SETPINS GRADE A2/70 OR SIMILAR.

NUTS.

FOR HOLDING DOWN NUTS REFER TO DRAWING NUMBER
FCL 603. M8 NUTS TO CONFORM TO BS.3692 AND BE
STAINLESS STEEL TO BS.EN.ISO.3506-2 GRADE A2 OR
SIMILAR.

PLAIN WASHERS.

FOR HOLDING DOWN BOLT WASHERS REFER TO
DRAWING NUMBER FCL 603. M12 AND M8 FORM 'C'
WASHERS TO BS.4320 AND TO BE STAINLESS STEEL TO
BS.EN.IS0.3506 GRADE A4 OR A2.

ALL DIMENSIONS IN MM.

HIMAST H1000 PASSIVE MAST SYSTEM ARE COVERED BY DESIGN RIGHTS AND PATENT PENDING.

STANDARD ARRANGEMENT DRAWINGS
OF HIMAST H1000 ALUMINIUM PASSIVE
MAST.

N
:Wu,_
5
Q
‘ R /
Q _m A | 02111 [ave .Om Bm_‘xﬁ d
HIMAST H1000 PASSIVE MAST PERFORMANCE. N Incorporated.
No. 0038/CPR/20120008/B
a BS.EN.12767:2007. m E/:_
S N
N IMPACT TEST CRITERIA. 35 km/h and 100 km/h W M TOLERANCES.
m ENERGY ABSORBTION CATERGORY. NE _Ll_ N TOLERANCES AS SHOWN
B X UNLESS &
N SPEED CLASS. 100 N N
F_ OCCUPANT SAFETY LEVEL. 2 Q W T . e
M 0 - Passive -
N Sign Support
B> O 5
NS > .
N
0¢ (D) Denotes Minimum Edge Distances
4¢M\O&M\/ for Drilled Resin Fixed Anchorages.
A <> (C) Denotes Minimum Edge Distances . coLuw
o for Cast-In Cradle Anchorages. VARS5103
MULTI LEG SUPPORT 7T siGN cLIp
. 2 A SECTION
45 E 111501
HIMAST H1000 PASSIVE MAST INFORMATION.
Section Size |Section Weight| Baseplate Weight |Bending Capacity | Bending Stiffness | Torsional Capacity | Torsion Stiffness | Shear Capacity m+”| BASEPLATE
Aaav A_A@\:_v A—AQV A—Az_ﬂ-v A—AZBNV A—Az_ﬂ-v A_AZ-SNV A_AZV “w 270 SECTION THIS DRAWING TO BE USED ONLY WITH
159 x 159 6.61 9.20 17.5 301 114 91.44 45 W/O.No.
SCALE — — DATE — 09/09/2008. DRAWING TO BE RETURNED TO DRAWING
DRN. — P.G.H. — CHK. — D.V.C. OFFICE ON COMPLETION OF WORK
LIST OF ADDITIONAL REFERENCE DRAWING FOR PASSIVE MASTS.
GENERAL NOTES. DRAWING NUMBER TITLE
1/. THE MINIMUM EDGE DISTANCE SHOWN 3/. THE FOUNDATION DESIGN IS THE RESPONSIBILITY OF THE 5/. FABRICATION TO BE IN ACCORDANCE WITH BS.8118-2. APM H500/ 01. HIMAST H500 PASSIVE MAST DETAILS.
mmw %%Mumw»mmw __Nmm TO ELIMINATE ANY wmm_m_,_\_zm %ww%az%%ﬂz Mm_mz ﬂw&ﬂunmﬁn wﬂw_.w%wzcdm»w%ﬂww%m 6/. AN EASILY LEGIBLE IDENTIFICATION PLATE SHALL BE APM H2000 / 01. HIMAST H2000 PASSIVE MAST DETAILS.
) ’ .. o APPLIED AND LOCATED APPROXIMATELY 1.5m ABOVE APM H3000/ 01. HIMAST H3000 PASSIVE MAST DETAILS.
2/. SIGN FOUNDATION TO BE PROVIDED BY  4/. SIGNAGE TO BE PROVIDED AND INSTALLED BY OTHERS. SIGN THE BASEPLATE IN AN EASILY VISIBLE POSITION.
OTHERS AND CAN PROTRUDE ABOVE MATERIAL, CHANNEL TYPE AND CHANNEL SPACINGS COULD APM CLIP / 02. ALUMINIUM SIGN CLIP TYPE 2.
GROUND LEVEL BY A MAXIMUM OF 50mm. AFFECT THE POST LOCATIONS. FCL 600. 180x180 M20 CAST-IN ANCHORAGES. TITLE DRAWING NUMBER

APM H1000 - 01.B.







=>V/arley and Gulliver Ltd.

www.v-and-g.co.uk

7 M20 7 SSR 170 ADJUSTMENT STUD SETS

| Item No. Description. Material.

M20 Hexagonal Full Nuts Stainless Steel Class A4-80
to BS.EN.ISO.3506-2:1998

A4 Stainless Steel Form A to

2. M20x37x3mm Flat Washers BS 4320: 1968

3. M20 Nylon Top Hat Isolation

Washers Nylon 66
4. M22x50x4mm Flat Washers Galvanised Steelto BS 4320:
5. 20mm Galvanised Steel To Varley and Gulliver
Base Plate Specification
|
1 1 € M20 Nylon Flat Washer Nylon 66
1 |
__ | __ 7. M20x150mm Long All Thread Stainless Steel Class A4-80
Stud to BS.EN.ISO.3506-1: 1997

INSTALLATION PROCEDURE

150

1. SCREW THE THREADED STUD INTO THE ANCHOR SOCKET BY HAND,
ENSURING THAT THE MINIMUM ENGAGEMENT OF THREAD IS 25MM.
IT IS RECOMMENDED THAT HIGH CREEP RESISTANT GREASE IS
APPLIED TO THE INTERNAL THREAD BEFORE INSERTING THE STUD.

N

PLACE A STAINLESS STEEL WASHER OVER THE STUD. SCREW A
HEXAGON NUT DOWN THE STUD UNTIL THE WASHER

IS IN CONTACT WITH THE CONCRETE SURFACE. TIGHTEN THE
CONNECTION BUT DO NOT OVER TORQUE.

3. THREAD A SECOND HEXAGON NUT ONTO THE STUD AND SCREW
DOWN TO THE LOWER PART BUT DO NOT TIGHTEN.

>

PLACE A STAINLESS STEEL WASHER FOLLOWED BY THE NYLON
ISOLATOR WASHER AND FINALLY A GALVANISED WASHER OVER
THE NUT. ENSURE THAT THIS SEQUENCE IS STRICTLY FOLLOWED.

5. WHEN ALL THE STUDS ARE FITTED IN THE ANCHORS FOLLOWING
THE ABOVE SEQUENCE, THE COLUMN BASE PLATE CAN BE PLACED
OVER THE PROJECTING RODS. THE LEVEL CAN BE ADJUSTED USING
THE HEXAGON NUT BELOW THE PLATE.

6. WHEN THE LINE AND LEVEL HAVE BEEN SET PLACE THE SECOND
GALVANISED WASHER OVER THE STUD. NEXT POSITION THE NYLON
TOP HAT ISOLATOR WASHER ON THE STUD ENSURING THAT THE
SHANK PASSES THROUGH THE OVERSIZE HOLE IN THE WASHER
AND INTO THE DRILLED HOLE OR SLOT IN THE BASE PLATE. FINALLY

7 PLACE THE STAINLESS STEEL WASHER OVER THE NYLON TOP HAT

- WASHER.

hl

SCREW THE THIRD HEXAGON NUT ONTO THE STUD AND TIGHTEN TO
ATORQUE WITHIN THE RANGE 130 TO 150Nm.

8. SCREW ON THE FOURTH HEXAGON NUT AND LOCK ONTO THE THIRD
NUT USING A SPANNER.

© FIXING CENTRE LTD 2006 - THIS DOCUMENT IS THE COPYRIGHT WORK OF FIXING CENTRE LIMITED. IT MAY NOT BE COPIED (IN WHOLE OR IN PART) WITHOUT THE PRIOR WRITTEN CONSENT OF FIXING CENTRE LTD. THE CONTENT
AND ANY DESIGN DISCLOSED IN THIS DOCUMENT MAY ALSO BE THE SUBJECT OF OTHER INTELLECTUAL PROPERTY RIGHTS AND THE REPRODUCTION OF ANY CONTENT OR DESIGN SHOWN IN THIS DOCUMENT WITHOUT THE PRIOR WRITTEN
CONSENT OF FIXING CENTRE LTD IS PROHIBITED AND MAY INFRINGE SUCH INTELLECTUAL PROPERTY RIGHTS. UNLESS OTHERWISE EXPRESSLY AGREED IN WRITING BY FIXING CENTRE LTD UNDER ANY DESIGN CONTRACT OR OTHER
AGREEMENT SHALL BELONG TO FIXING CENTRE LTD ABSOLUTELY NO LICENCE IS HEREBY GIVEN OR IS INFERRED IN RESPECT OF SUCH INTELLECTUAL PROPERTY

ISSUE MODIFICATION BY |DATE
A CLIENT DEG [2.04.09
AMENDMENTS
B CLIENT DEG [14.04.09
AMENDMENTS

FIXING
L CENTRE

r— ,\— —l—um U SSR SAS Structural Anchoring Systems

Fixing Centre Ltd, Units B & C, Burntcommon,
London Road, Send, Surrey GU23 7LN
Phone: +44 (0) 1483 226420 Fax: +44 (0) 1483 226421

Email: fixingcentre@btconnect.com

CLIENT VARLEY & GULLIV

ERLTD

TITLE M20 SSR 170 STUD SET

CLASS A4-80

DRN. DATE Q.A.
A.P. (" {0/09/08 | ciiko. D-

G.[5ME 1:2

REF. HOLDING DOWN BOLT
DETAIL OF H 2000 MAST
& H 1000 MAST

DRG. No.

FCL 604
J









